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m e b H 104,408,770
MER -AS5ABEDNDTH 1,428’710
VY A I LT HETSAFYY 4 875,670
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Ry kAR BML 88,320
# R Z & 11,955,150
# X Z & 2,630,500
F E & 122,320

a H 133,336,490
@ # 4 E A

2 Al ZHE (kg)
X E £ Z & 95,104,950
T X R & 36,638,610
T Do H 1,592,930

a & 133,336,490
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B Al ZH= (kg)
£ i IR & 93,716,240
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B 2 i A 4,952,030
BE B I % 391,910
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7 Al Z#HE (kg)
e T c A S 67,248,210
MR HSABREDT & 1,162,560
VY A I LT ETSAFYY 4 875,670
FOMDTSRAFYIRED S & 7,378,390
RNy kAR b+ 88,320
# R T & 11,811,500
# X Z #H# 2,418,260
7 T Z # 122,040

a8 B 95,104,950
QURERERIIRA =

7 Al ZHE (kg)
F B W % 93,716,240
B 2 # A 1,300,390
BE & I %5 88,320

a H 95,104,950
QR)EXRIH
DR RINE - RA =

7 Al ZHE (kg)
e T c A S 35,854,420
Mg HSABEDT & 92,080
VA9 LT ETSRAFYY 0
ZTDORDTSRFIIBEDT # 440,840
# R T & 105,710
# X Z #H# 145,560

a B 36,638,610
QURERERIIRA =

7 Al ZHE (kg)
A EEFENRE 34,276,310
B 2 #H A 2,333,050
B A (ERE) 29,250

a it 36,638,610
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| ZHE (kg)
e T c S S 1,306,140
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FOMDTSAFYIRED & 7,820
# R Z & 37,940
# X Z & 66,680
F E Z & 280

a B 1,592,930
QUNERERITRAE

(| ZHE (kg)
N #* B O® 663,470
T i % E 41,880
B Kk F R 887,580

a B 1,592,930
©; IS EINES YN

7 Al CHE (kg)
BE B I £ 303,590
B 2 #% A 1,289,340

=} B 1,592,930
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